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General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections. )

All questions are compulsory

All questions of Section-A andall questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-Aaretwo marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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HIT-3 / SECTION-A

\/ TEE W R fafed | A ¥ e fafan = @@ 9 w1 E)

Define enzyme. Néme one enzyme in humans which digests fats.
\}/ v off frdt TeeiR ThgeaihdaRgfaRdedg e A At &1 79 e F T
fafed o _

Whenever there is a relative motion between a magnet and a coil, a current is induced in the
coil. Name this phenomenon.

@ i YHR & AR FHA § 9 & TFHA 1 T 39am fafan)

State one use of glass cover in box type solar cookers.

/ i g %1 THETE AW At Ta% Fatu % fag Sgfha Tamfe T fafae) W @
ITENT HT TG HIT |

" Write the chemical name of baking soda. Write balanced chemical equation for its
preparation. Mention its one use.
y 9 & i varafE afufsa w faEr Fif
| X + @9 FARES — Y + Hifeaq FEe
(Y3 37aqv)
1 # we=m Wi :
@ X3RY; (b)  FufsRT &% TR

Consider the following chemical reaction :
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X + Barium chloride — Y + Sodium chloride
(white ppt.)

Identify : (a) XandY; (b)  The type of reaction.

/ forelt Wify gR1 Efad AN 1 G iR T fEm weR FEhE # O ¥7 O SR % 9 2 L
R ELERY ]

How is the timing and the amount of hormone secreted by a gland regulated? Explain w1th '
an example.

g/ firelt i 1 @ M Cuso,faeem A W FE F w3 F @ T WY FA R T¢I e 3
oo ®1 e 1 Fiewt a1 51 W@ R FO G F wEn @ NE & < @ R e ™ @
I8+ for e e fFe T Geron o wRv fafee 3@ @R gt sifufrar =1 gt s

A zinc plate was kept in a glass container having CuSO, solution. On examining it was found that the

blue colour of the solution is getting fader and fader. After a few days, when zinc plate was taken out
of the solution, a number of holes were noticed in it. State the reason for whatever is observed and
give chemical equation for the reaction involved.

ﬁ/ T F T F i A § FEeEsiEEEe W yaith $0 W e 98 v @ 9 aven 3
TR & o €1 wwEsy o U =1 da @2 maﬁiﬁmshasmﬂmmﬁmmﬂwhﬁm

On passing excess carbon dioxide gas through lime water, it first turns milky and then g™ !
becomes colourless. Explain why ? Write all the chemical equations of the reactions involved.

@/ St AR F1 B a9 TeR Iee f5an T ) U fRareny it el @ wwengd i uigell 3
F foEEE gREHE a9 TuTgeii & AfaEs yHia § oweg 2 ¥

You are provided with magnesium ribbon and sulphur powder. Explain with the help of an activity
that metal oxides are basic and non-metal oxides are acidic in nature. '

10 A& R A TarE St w dgf i fafe i 9 et s & TR E 3
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(@)  Aiiferaw o o1 a1y & < foran v £
(b) I YRR Y O fohan ST R

Write balanced chemical equation for the following reactions and also name the type of chemic
reaction in each case.

}9/ Magnesium ribbon is burnt in air.
})7/ Lime stone is heated.

Mmﬁmﬁmﬁwmﬁml

Explain the process of nutrition in amoeba with the help of a neat labelled diagram.

)V A IR H SR, gty dqw e qon s iy, w5 w swferf i gy i wit

Draw a diagram showing the correct positions of pancreas, thy‘r}"g/gland, pifuitary gland
Adrenal gland in human being. .

T T W S H SFRIE A ¥ | e o T ge % e o e weR e s 2

Plants absorb water from the soil. Explain how does the water reach the tree top ?

5m @WK & W AR 1 Wy sftwfaa wifve fga s F1 #1 89%d 0.01 mm? 79
wferigaar 50 x 108 39 Hie &1

Calculate the resistance of a 5 m length of a wire of area of cross - section 0.01 mm2 and
resistivity 50 X 10~8 ohm metre.

farelt geita uRTETE Freet & g W g EaTH aaaH N REdTRaR, o -
()  FUsch | yared g H Yaora § gfg #) wdt &2
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@)  Fose § Wi F FEAHgls Howie 2
(i) Mﬁﬁmﬁ'ﬁaﬁm%?

How will the strength of magnetic field due to a circular coil carrying current change at its
centre when the -

61 strength of current flowing in the coil is increased ?
‘/(i!( number of turns in the coil is increased ?

yﬂﬂ radius of the coil is increased ?

16 it sea W10 W; 220 V 3ifhd &1 39 soa &1 393 wiared 10 W= fFan s 81 sca gri30 fg7 3
# 39 Sl 1 U S a4l kWh § Hifsa)

An electric bulb is marked 10 W; 220 V. It is used for 10 hours daily for 30 days. Calculate the
energy consumed by the bulb in joules and kWh.

2 e e Fem s frare 3 R 3 @ Pt 2 e e et §1 39 v e 3
F TFHT ST Ha ety ) &, g wed @ @ aR F 9@ F) W= T | SEa 1

(i) w3 T TER | Y VGV FH F § Gedal i | GHIRY HE 5w ?
@) o ol ) fafia o & o Fiow S s oo W= gR v fae 2
() forener A fasrelt w1 ST e woR w0 fFa < v 872

Kritika observed that the tube lights in the corridor of her school were always switched on the
whole day. She brought the matter to the notice of her class teacher who talked to the
Principal about it. The Principal took immediate action.

(i Krtitika helped in a way to reduce air pollution. Explain. How ?

i M Kritika was appreciated by the teachers and the principal for portraying which values
?

inif How can the consumption of electricity be reduced in a school ?
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Differentiate between energy obtained by burning fossil faels and that obtained as solar
energy.

‘/@/ Friiferm (o] W 12) @R Siadien (WA 5 8) = e e fated WeH &
TR g S sfemEe & FEn TRl 9 3 S = 99 faiEd| 39 TR
Frafya AR F HiE @ ifas 1o FR0 |l gaEE )

Write the electronic configuration of magnesium (atomic no. 12) and oxygen (atomic no. 8)
and explain the formation of magnesium oxide by electrons - of State the type of bont
formed. Explain with reason two physical pro compounds formed by this bonding.

20 = o feupeit wifeg

() T o T T X % iy Al % U T8 swied s ¢ S 99w @ o @
o # v 82

() U 3 7 % WY Al ek CO, N IS R 81 Z 90 8 FhA 2

(i) CaO AU SO, fawrEe ¥ 30 AFERs F W fafay st fFet g7 F Wy Al
HOM | FHRO I |

(v) U Sifeam A 1 ST S S T FE i w2 % o e s 1 36 A
-« fafea)

v) wwﬁaﬁa@ﬂqﬂa%mmﬁamﬁmﬁﬁmqﬁw@m%n 39 9qd F 0

fafaa)

Comment on the following :

Jﬁ/ An acid reacts with a substance 'X' produces a gas which burns with pop sound
What is the nature of 'X' ?

/&f( An acid when reacts with Z, produces CO, gas. What can b
Z.2

diﬁ/ CaO and SO, are two oxides. Name the oxide which will react with a base. Giv
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reason.

vy A sodium compound is used for removing permanent hardness of water, Name that
compound.

(v) A substance on treatment with chlorine gas yields bleaching powder. Name the
substance.

mmﬁ%ﬁwml T 1 751 TR A ¥7 39 ot % W fafay 5
IR ] S=Ua9 A & A1 I & | 39E o = fatan)

Name the two components of the central nervous system. How are they protected ? Name the
component which is considered as highest coordinating centre of the body. Describe its three
regions.

2 (2 994 W W fafae s e foem oftes F faegm o A ) fae o S wE @S
gfefya sifsa |
() ot e uftee A fFregdemimemse:
e e -
(© @mwm@ﬁqﬁaﬁMmaﬁﬁaﬁnaﬁm@m@mwv
YIS & 91 Yl a9 Th 7 Foil € 1

Name an instrument that measures electric current in a circuit. Define umt of electric

@) & —rr

Draw a closed circuit diagram consisting of 0.5 m long nichrome wire XY, an ammeter,

ﬂ current.

Jb)/ * What are the following symbols mean in an electric circuit.

P
a voltmeter, four cells of 1.5 V and a plug key.

23 (@ @ BT TEHA T B H JESEGA@CAETIHCACAIER T HEGR 5
FUEEgrEhIYai™ farag |

N
N

(b) D TEHE & Y - o S i T e 2
(© Frfl SR gUR FUeel F F= W TEFAGTFHaaaEarEar Hayer i
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Magnetic field lines of two bar magnets A and B ase 2s shown below. Name the poles
of the magnets facing each other.

' N\
N

Q{b)/ Two magnetic field lines never intersect each other. Why ?

()  How does the strength of the magnetic field at the centre of a current carrying circular
coil depend on the

)j)/ radius of the coil,
_,(ﬂ)/ number of turns in the coil, and -~
Jj.ii) strength of the current flowing in the coil ?

24 @@ Tl 4 YRIETE! TR R 9
BRI HNE D HE R EAE A L RE D

IR e EeHE 8 S ¥

(b) "mﬁmﬁ@aﬂﬁaﬂaﬁ%ﬁlﬁmﬂm@im (S yArafE S
) AT | TR AR EF g e hagsTemol frafeammfaeman 2

>
FEEFT A TR &

k.
r 4

Y

v
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U(a/ Describe an activity to determine the direction of magnetic field produced by a current
carrying straight conductor. Also show that the dizection of the magnetic field is reversed on
reversing the direction of current.

An a-particle, (Which is a ~ positively charged particle)
enters, a uniform magnetic field at right angles o it as shown below. Stating the relevant
principle explain in which direction will this a-particle move ?

e » Magnetic field
| WTT-& /SECTION - B
: ;
25 U faerA 1 pHAMA 7% pH YR F 39 {18 - 1
(@) dem b W () e (4

A solution having pH 7 shows the colour with pH paper which is :

(a) Yellow (b) Green (c) Blue (d) Orange

26 qa;aﬁa»’tanﬁayﬂ,n,maﬂtwfzanaaﬂzwﬁmmmmﬂummm1
pH R gRI FT &1 %51 a1 399 Ve e % 1 foerdl # gam W pH IR &1 {1 %9w: 9,
Hem, 70 3R AT & T 39 g F R ) Fewen wn w@ freed dm -

@ 111, I 37eia €1 (b) 13RIV e #
© ImaRIv &g &) @ RV €

Four solutions I, II, ITI and IV were given to a student to test their acidic or basic nature using
pH paper. He observed that when the pH paper is dipped in these four solutions separately
the colour of pH paper turned to Red, Blue, Green and Orange respectively. The correct
conclusion of this observation would be :

(a) I 11, III are acidic  » (b) I and IV are acidic

() II, ITT and IV are basic (d) I and IV are basic
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() I o feewd &t e F g1
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(iv) Te et forems =i o S ¢
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Raman studied the chemical properties of hydrochloric acid in the laboratory and
observations reported by him are as follows :

0
(i)
(i)

@)

(@)
(©)

It turns red litmus blue.

It reajc{s with zinc and a gas is evolved.

It reacts with solid sodium carbonate to give brisk effervescence.
It turns blue litmus red.

The correct set of observations is :

(i) and (iv) only = (b) (i), (iii) and (iv) only »

@)and (ii)only (&) (i), (iii) and (iv) only

28 A 5w gehe & UEN faerm § Ygfafm it o Seit ) o 5 AR 36 faerdd B @ 9%
TR € @I 3Ed Frsaris SeHeTTaiaa:

(i)
(i)
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(v) fafrm, foiw @t e afves afea 31

Betty added Aluminium metal to colourless solution of Zinc sulphate. After half an hour the
solution was observed. It was colourless. She recorded her observations in the following
i statements. '

i

i Fﬁﬁm%:

; ‘@ 6 b 6

p © GG @ @ *

(i) No reaction occurred
(ii) Reaction occurred and aluminium sulphate was formed
(iii) Zinc is more reactive than aluminium.

(iv)  Aluminium is more reactive than zinc.

The correct observations are :
® 0@ (b) (i), (i)

© G, () 4 @, (i) (iv)
Sl T ‘ i,

A3

29 mﬁﬁﬁé%aﬁ'@tﬂ%ﬁmaaﬁinéam%ﬁqufmﬁwﬁwﬁmaﬁmﬁmﬁzﬁl 1
g IR ®

() Todem arfufsran =1
(b) WS s
() forarm sfufsean =
(d) Teferearm sifufssan =1

To turn a pale green solution of ferrous sulphate to colourless, Radhika put a few zinc
granules in it. This is an example of :

(a) Decomposition reaction = e
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(b)  Combination reaction
(c) Displacement reaction

(d)  Double displacement reaction

A fou MU oRey i@ § 3.0 991 50 F  WuE 7@ == 6 ¥ = 320 2o w9 | waifea g
3 falys & ol & i favaia &m :

3Q 50
Hili]
6V
@ 23V (b) 225V €© 3V (@ 28V

In the following circuit diagram two resistors of 3} and 50 and a battery of 6V all are
connected in series. The potential difference across 3(} resistor will be :

3Q 50
’ Hili]
6V

(@ 23V b) 225V () 3V (d) 28V

10 3R 100Q F wfadel ! TR wH § syafd faa T | fomdt sfedy Sm-

(a)  100Q ¥ sty

(b)  100Q ¥ FH TG 1Q | FH T

(0 108=H

(d) 109 3fF wg 100Q F o T

Resistors of 1Q And 100Q are arranged in parallel. The resultant resistance will be:

(@) More than 100Q

(b)  Less then 100Q but not less

(c)  Lessthan1Q

(d)  More than 1Q but not more than 100Q
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(b)
©
(d)
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For the experiment, “light is necessary for photosynthesis”, the potted plant is first kept in
darkness for a day. This is to:

Deactivate the chloroplasts

De-starch leaves

Activate chloroplasts

"
Prepare-leaves for photosynthesis
; & X ) . "

read

i

KCl
Figia 2 e
(@) &S @ i F FEe Al
(b) s geR A =fen
(€)  SRH g7 H v e IR |
(d &l # KOH 81 =g |




A student drew the given diagram for the set - up of the experiment to show that 'CO, is
released during respiration’. The error in the diagram can be corrected by :

CORK

Kd

==
. -

===— WATER

GERMINATING
SEEDS

(@@  Cork must be replaced by cotton plug
(b)  Seeds should be dry seeds

() Beaker must contain lime water

@ * Test tube should have KOH

34 e wheon # erfufsran & whR =1 oo wifsg ) 2
(1) o 93 g w5 & wrg A
(2 HE gehe fRtedl W % gWE |
() HR Tk foerd | @R H i H @
4) Gifean gehe faeaa #t aftm Fese faema & sfufean)

Mentions the type of reactions in the following cases :

A .Action of water on quick lime. ‘
y}/ Action of heat on ferrous sulphate crystals.
% Iron nail kept in copper sulphate solution.

(4) / Reaction of aqueous sodium sulphate with aqueous barium chloride.

A & Aotz § 0 3% 991 0.5 V 3% % 9eg 20 W ¥ | SreeHieR 1 Seqawis IR Fig | 2
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In a voltmeter there are 20 divisions between the 0 mark and 0.5 V mark. Calculate the least
count of the voltmeter. '

36 wﬁmmﬁmmmmmmmmammmﬁz
TR BT R R T e e ST ST GIee |

Arjun prepared temporary mount of a stained leaf peel and observed it under the low power
of compound microscope. He found that the cells of the leaf peel were drying. Mention the

step he has skipped.
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